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--> PROBIT;Lhs=AC;Rhs=ONE, TEETANG2,NAME2,JAO2, TECH2,ANALY2;Margin$

+- AL L8 T e \l 1] = N _ ___ &P _\N____________

---+
Dependent variable is binary, y=0 or y not equal 0
Ordinary least sgquares regression Weighting variable = none
Dep. var. = AC Mean= .6275000000 , S.D.= .4840760002
Mo?el size: Observations = 400, Parameters = 6, Deg.Fr.=

394

| Residuals: Sum of squares= 89.34018419 ,

Std.Dev.= .47618 |

| Fit: R-squared= .044464, Adjusted R-squared

= .03234 |

| Model test: F[ 5, 394] = 3.67, Prob value

= .00296 |

| Diagnostic: Log-L = -267.7728, Restricted(b=0) Log-L = -

276.8695 |

| LogAmemiyaPrCrt.= -1.469, Akaike Info. Crt.=

1.369 |

N NV AR A > I N____ /& _____

---+

R T R T R Fo--m---- R to-mm- -

---+

|variable | Coefficient | Standard Error |b/St.Er.|P[|Z|>z] | Mean

of X|

R R e ittt e e +----- -

---+

Constant .6063215283 .17967424 3.375 .0007

TEETANG2 -.3341962758 .15049085 -2.221 .0264 .96500000
NAME2 .1052397385 .65545192E-01 1.606 .1084 .95250000
JAO2 -.9404827226E-02 .19759414 -.048 .9620 .98000000
TECH2 .2866359180 .92374937E-01 3.103 .0019 .91000000
ANALY2 -.7870122844E-02 .54995735E-01 -.143 .8862 1.0400000

Normal exit from iterations. Exit status=0.

Binomial Probit Model
Maximum Likelihood Estimates

Dependent variable AC
Weighting variable ONE
Number of observations 400

Iterations completed 4



N

Log likelihood f1 1 -255.24438
Restricted log lincisun00d -264.1091
Chi-squared 17.72873
Degrees of freedom 5
Significance level .3306318E-02
B it +
tommmmm - fom oo e e Fomm o mm e to-mmm— - e s +ommmm -
---+
|variable | Coefficient | Standard Error |b/St.Er.|P[|Z|>z] | Mean
of X|
tommmm = - e L R T Fo----m-- e +-------
-—-+
Index function for probability
Constant .2560026323 .48863968 .524 .6003
TEETANG2 -.8944411057 .42185870 -2.120 .0340 .96500000
NAME2 .3456637330 .21371945 1.617 .1058 .95250000
JAO2 -.2089910214E-01 .51892248 -.040 .9679 .98000000
TECH2 .7251606402 .25940958 2.795 .0052 .91000000
ANALY2 -.2978163763E-01 .15228817 -.196 .8450 1.0400000
Matrix: Las
[6.41
e e e +
Partial derivatives of E[y] = F[*] with
respect to the vector of characteristics.
They are computed at the means of the Xs.
Observations used for means are All Obs.
B i i it +
Fommmmmm - e T dmm o e m oo tommm - Fommmmm - - Fommmm -
-- -+
|variable | Coefficient | Standard Error |b/St.Er.|P[|Z|>z] | Mean
of X|
Fo---- - R = ahd ke et S O T fom— - b +-------
-——+
Index function for probability
Constant .9670027779E-01 .18432301 .525 .5998
TEETANG2 -.3378586487 .15939102 -2.120 .0340 .96500000
NAME2 .1305681067 .80630154E-01 1.619 .1054 .95250000
JAO2 -.7894250793E-02 .19601482 -.040 .9679 .98000000
TECH2 .2739160716 .98355751E-01 2.785 .0054 .91000000
ANALY2 -.1124946492E-01 .57528967E-01 s Pl GG .8450 1.0400000
Frequencies of actual & predicted outcomes
Predicted outcome has maximum p: Y.
Predicted
________________ L)WY e
Actual 0 1 | Total
________________ 8 __4
0 22 127 149
1 6 245 251
________________ $+  —-—e-
Total 28 372 | 400

--> LOGIT;Lhs=AC; Rhs=ONE, TEETANG2, NAME2, JAO2, TECH2,ANALY2;Margin$

Multinomial logit model
There are 2 outcomes for LH variable AC
These are the OLS start values based on the
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binary variables for each outcome Y(i) = j.
Coefficients for LHS=0 outcome are set to 0.0
e +
Fomm e e - fommmmm o e domm - m - e +ommmm -
---+
|variable | Coefficient | Standard Error |b/St.Er.|P[|Z|>z] | Mean
of X|
e s e e e F----=--- R s +-------
-—-+
Characteristics in numerator of Prob[Y = 1]
Constant .6063215283 .17967424 3.375 .0007
TEETANG2 -.3341962758 .15049085 -2.221 .0264 .96500000
NAME2 .1052397385 .65545192E-01 1.606 .1084 .95250000
JAO2 -.9404827226E-02 .19759414 -.048 .9620 .98000000
TECH2 .2866359180 .92374937E-01 3.103 .0019 .91000000
ANALY2 -.7870122844E-02 .54995735E-01 -.143 .8862 1.0400000
Normal exit from iterations. Exit status=0.
R e e e +
Multinomial Logit Model
Maximum Likelihood Estimates
Dependent variable AC
Weighting wvariable ONE
Number of observations 400
Iterations completed 5
Log likelihood function -254.8786
Restricted log likelihood -264.1091
Chi-squared 18.46110
Degrees of freedom 5
Significance level .2420725E-02
T b +
tommmm— - B e +---- —d--—--—-- e +o-mm- -
---+
| Variable | Coefficient | Sta * |b/St.Er.|P[|Z]|>2z] | Mean
of X|
Fomm e m o= Fomm oo +---= —d--—--— - Fomm e oo - Fommmm -
---+
Characteristics in numerator of Prob[Y = 1]
Constant .5381116205 .80641952 .667 .5046
TEETANG2 -1.839485427 .89407548 -2.057 .0396 .96500000
NAME2 .5561571744 .35267236 1.577 .1148 .95250000
JAO2 .1516837183 .91893334 .165 .8689 .98000000
TECH2 1.235887330 .43164191 2.863 .0042 .91000000
ANALY2 -.2491669624E-01 .24301062 -.103 .9183 1.0400000
Matrix: Las
[6.41
e T +
Partial derivatives of probabilities with
respect to the vector of characteristics.
They are computed at the means of the Xs.
Observations used for means are All Obs.
e e it +
e Fomm - R +-------- e +-------
-——+
|variable | Coefficient | Standard Error |b/St.Er.|P[|Z|>z] | Mean

of X|



Marginal effects on Prob[Y
.18707619
.20720053
.81908048E-01
.21371350

.10080545

.56530557E-01

Constant
TEETANG2 -
NAME?2

JAO2

TECH2
ANALY2 =

Frequencies of actual & predicted outcomes
Predicted outcome has maximum probability.

.1251737896
.4278951673
.1293714882
.3528417734E-01
.2874881247
.5796041518E-02

Predicted
_______ ” S
0 1 | Total
_______ e ——
22 127 149
6 245 251
_______ D il
28 372 | 400
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.669

.579
.165
.852
-.103

.5034
.0389
L1142
.8689
.0043
.9183

.96500000
.95250000
.98000000
.91000000
1.0400000
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